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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,
centre number and candidate number.

There are three sections you must answer:

- Section A Questions 1-4

— Section B Question 5 and either Question 6(a) or 6(b) or 6(c)
— Section C Question 7.

Answer the questions in the spaces provided

— there may be more space than you need.

You must not use a dictionary.

Information

The total mark for this paper is 100.
The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Check your answers if you have time at the end.
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SECTIONA
Reading
Answer ALL questions.
Write your answers in the spaces provided.

Multiple-choice questions must be answered with a cross in a box X. If you change your
mind about an answer, put a line through the box 2 and then mark your new answer with
a cross X . Open-response questions do not have to be written in full sentences and you may
respond using single words or phrases.
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(1)

(1)

(1)

(2)

(2)

(2)

(2)

(1)

J

U]

P 7 4 6 1 3 R A 0 7 2 0

7

Turn over »



4 (a) o5 men e et owrd ave’ Ew @ifta wefes wieer

ety epiieT o qeme

T Ao fMefers Fre Ui I aFve Frwdl IE efiEce [ ¢ eyfets
THREF e F2 (TR | (e [eeape A=t [fon exfes e wiag ifew
R Tga Tgd WFT FoAF qRfTe Fa0e @ 7F [REN 2679 @F Tga L @A
o a2 FERSTE (Tow e e e [ R | Simae [ e A
@fo e F1 1

AR ST FIOE 77 FIK Wonal fifere 27 el F17 1 [eaig T4 39w e aw
TN ST ST T | (FO (FICA FIE ABCF (T2 AN 212 e oo ot e
@9 (M FIES TS AR QRTINS WY (A NS [ 27 FIK TSN 1 G oMW
afrws «ie Fredione e e afsrsd e =3

FIRGT TR (O FCRACR T TS (512 T4 THIRE | GRE W ACACR ACIES OFf©
A, ARTTRIT QPR SFe A4 I3 &f& | oimd TR TeRe G360 T
@G | oo ot Aaws aar AfvilTe T 2w FoFET Vg FEEe @) Arefes
TS @3 FIT AT QTS BL9 QTR 2 5 *roifs 2w ¢ fafes e

TR 2RZ PG FEACHFT IR (AP Y IR oI FrFditnd ey B [ <G |
FIE TRl o4 fifen wifafs pm wirem T @7 e o efevines F1r (@A
SRl PARFS #S I |

TR e Sinite efefefes Remeas @& Tgq I (9% (X O3 o el
IEEapiEl

ETIBTe @R O AR ©f TR B AE AN e e | (O Tgq F5)ef
A (TR TG (8 G2 ST (F1R1 (AT TR+l T A1 |

(i) 14T FIIR TR JFOIR 91 FCRc=A? 9fe R @

P 7 4 6 1 3 R A 0 8 2 0

(/]

V3HY SIHLENEILIHM 1ON Od

Y3adY SIHLNEILIHM 1ION Od

HLNIILIIM 1ON Od

Y3yy Si



DO NOTWRITE INTHIS AREA oo

> RRRRRRRRRRRRRRRKRRRKRIRKRRRKRRRKRIRRRIRRRIRRKKRKS ;

 DONOTWRITEINTHISAREA

5558\

(ili) FIIF TR AR (AF F A=l #4177 gfo K @rean

J

U]

| |II||II| ||| |II|| I|I|I I||I| ||III |||I||I |I|| |I|| II"I |I||I ||I|| II" |II| Turn over »
P 7 46 1 3 R A 0 9 2 0



4 (b) Reeq 2ol oFd Sage’ @417 KA AEHAD e A detea Tex s |

v3es 77 e epTitd o Save’ @I e S F9ez

e T SFAwa [eaioo 8 Ay [ a2 @RI 2te asiF @ St @Tore |
QT WA GG TSI bete 20 [ 8 effed i W% 267 (@it [ @3
(T2 (2fFTS Q2 S0l VEEd T @ e SINIE Mg ASTIE S G0 (RS
TrRge | O@ AW ATh8 AR SFATWR (ST GRS F02 6T WA T 01 1 GFAN
Afels FeR @Y TaRdRr [Ream o er o) Wa 2Es IeuE [eEw [eriaEts
farmidia el S| @F IR ZE FrRAfeIMetETe a9 T SO € iR TR
T ABATH T e FrES ¢ wfie e Soiwace weid | wReife O st (ret
(I, ¥ fJwe e @fFFer gardl e g FEe ST ¢ SR FTgIEs
it JT-Aiferey KA Swir e e 1’

f{ff: «comma W @iy gewe | v Rl @ u) ferem @i @ @om
TP AT FOIRP WS FAR 92 WF A (AT SR (B! (T (MO &) TTfB
wFgell | G FARCS MR THAC ST AR | (AT T FACS B SRR
T8 (721 OIR ANWRCE S-S 0T (A #i) FIRACH FFf© Ble] FAC© A1 @
Ty oot e ¢ eyfe fane fAfey sxoeg toft 2@ swdmare e wad)
FACe 20, e ¢ efers oime sJaeieTel G2 wFe! qee I 1 e, e ¢
R A PR (Tg Fre R&feq somam ove ¢ ePIEs R 2 IS 2
fermafore arifee afswfrer [Rall Tar@tid Te IR AFHES IIF 41
Tfow | Ticerd webel fReeiond vl ¢ Fighod 8! FACo 201 @ AR FrEEwma
ARFFR TS @S I 0T (ol Thw

(i) e RERetee v 2SI WSy ALCHe| fred O e
. feew frwr afgsied Frediorr el SR
. PERdiTR es Arefes QieeR wee

(ii) Foos et esw fasly I & eHe fFred FUR =l
- e Ee ¢ ayfefTen wEtTe tefare FaA

. oo PRI e eI S

(Total for Question 4 = 14 marks)
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SECTION B
Writing
Answer Question 5 and either Question 6(a) or 6(b) or 6(c).

Write your answers in the spaces provided.
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(Total for Question 5 = 14 marks)
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Indicate which question you are answering by marking a cross in the box X . If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross X .

=== Chosen question number: Question 6(a) [] Question 6(b) [] Question 6(c) []
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(Total for Question 6 = 26 marks)

TOTAL FOR SECTION B =40 MARKS
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SECTION C
Translation into Bangla

Write your answer in the space provided.

7 e @RI AEw w@m et

There are lots of power cuts in Bangladesh. These power cuts severely affect the lives of
people who live in the city. For young people, it is their education that is disrupted the
most by the inconvenient and frequent power cuts.

Often, students are forced to study in the challenging conditions. This is not only
unsuitable for a learning environment but can also cause health issues. While regular
classes continue in some educational institutes even without electricity, other institutes
are bound to close all classes due to unbearable heat.
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(Total for Question 7 = 20 marks)

TOTAL FOR SECTION C =20 MARKS
TOTAL FOR PAPER = 100 MARKS
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